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test.hcc

Int main()
{ intij;
| = 3;
j=4

}

putint(i+j):

test.hsm

PUSH
LDC
STV
LDC
STV
LDV
LDV
AD
WRI
POP
HLT

OO0 OO ODOOO0OO0OOo

O NOO O -_PhOWDN

Test.classz# 7t 7 )L
Javap —C Test TR

iconst_3

istore_ 1

iconst_4

istore_2

getstatic  #2;

iload_1

iload 2

iadd

invokevirtual #3;
return
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Hsm (HiStackMachine) D #f 2 (1)

EE CHWAIREER(RZYITI )

« TERK
7095 .LP
IR IDEEIS
0535 LHhD43(pe)
" RIZEITI SR ziET
A2 (S)
CEEXNR(BUEREH. BEERR) 7iE<
- RO TEIE
AAYPIRA3(sp)
s RV TEET
TL—LRA23(fp)
B (FHRE)DIL—LDORABTFL X (1RDEZE TR BA)




Hsm (HiStackMachine) D #f 2 (2)

« mHtYk
(1) B—K- A 7@5
O—Fa@s: A3V TIZEFEL,
RAhT7ans R EL THERLI-ATICEZRET S,
-EEIEBOMER. AROmS
(2) EEGMR
-BiNER. BRER, GREEREZL)
(3) D TR, HliHR R
BEBIONYUT R OYUT ELLTT
(4) AHAGH
AN HA




1 w1
— O
2 a2
3 BH3 5
5 HH5 3
-1 1
2
1
. —p 0
%t eeeeeeseeeetetecsannsnsncsasesannnns p0=00)t=é\i:ﬁi’%0\ ................................................................................... .
@ EETT5, 4
pc=1D¢LE, 51
X795 [EXO—FT 3581
[E. sp—sp+1&LT
pc=nDEEMENE S[sp]IZiEX,
ET9D -

e




sPak i

L

WRI 0 0 EHRT:
S[sp]& & 7K; sp--; pctt;

WRCO00 XEFEXRK:
SFEO—RS[spll= T A XFED R R,
Sp--; PC++;

WNLOO HITHET:
o1T; pct+;

LDC 0 1
WRI O

BH1ZRT

LDC 0 70

WRC 0 0 |
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int main() B § &8 (declaration) PUSH 0 2
{ int i,j;
int | J POP O 2
| = 3;
)= 4; X (statement) [ =t (expression) ]
putint(i+]);
} RAX [hﬂ%i:‘:ﬁ(expression) i+j]
[ | =3; ]
LDVOO
LDCO 3
LDVO1
H 71X ] STV OO
[ putint(...) . ADOO
WRI 00 { i # = (expression) 3 ]

stm2;
stm3;

XD (ERE)
stm1; LDCO 3
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int main() E & #B (declaration) J /_I&HOZ_L
int i,);
{ LDCO 3
INt i J X (statement)
) STVOO
= 3; XOFIEE) .
| , stmf; LDC O 3
J = 4; stm2;
L _ -
putint(i+]); stm3; < \/:01
} [ REins LDV 00
i =3:
LDVO1
H H13C ] LDC O 3
putint(i+j) , Y
stvoo / 5
— WRI 0O
RKAX / :
ADOO LDCO4
WRI 0O STVOl1
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1+2*3

MEKXOI—F&ERIIL—IL
(IN—=YDHEAEHLERH)

£l + Al

DERERIER

LDCO1
LDCO 2
LDCO 3

ML OO

ADOO

T (320) . mEK.
ZFEADE/N—YDI—F
FHAEHLES

il DEFRFER

=gVl DFERFER

ADOO

EAXOFERER O—FERDOER) DEIZ,
AAXDFRERZL AT,
RZICER"AD 0 0°%#<>2IF%
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R38R E & (Source Language): &t ) 3%

<EXPRESSION>::= <TERM>
| <EXPRESSION> '+' <TERM>
| <EXPRESSION> '-' <TERM>
<TERM>::= <UNARY>
| <TERM> """ <UNARY>
| <TERM>"'/'<UNARY>
<UNARY>::== <FACTOR>
|- <UNARY>
<FACTOR>::= <IDENT>
| <NUMBER>
|'( <EXPRESSION> ')
<|IDENT>::=a~zDEF
<NUMBER>::=81=FF M1 LL L DfElY R L X F 5
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(K JDI—FER(1)

= @ﬂﬁﬁ%}

£l + il

DEFRFER

[- = @ﬂﬁﬁ%}

DEFRFER

DFERFER

ADOO

DERERIER

NEG OO
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[ | DI—FERK(2)

[ 5 @%ﬂﬁﬂﬁ%] . LDCO [ H=F3| |=x9 2%

g

[ 2T DFRIER ] LDV O addr( | £HI




{Bl: 1+2*3 (1

[ 1+2*3 DFERFER ]

)

2*3

DEFMERIER

[ :

DEFAERIFER J

=

DEFMERIFER ]

1 DEIRIEER
2*3 DEIERAE R
AD 0O
- LDC O 1
DF BN EES
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{Bl: 1+2*3 (2)

2 * 3 I
DEFMERIFER
2 DFMERIFER
3 DERERIER

=

DERFER ] —

DFERFER

r

DEFMERIFER

ML OO

LDCO 2

LDCO 3

LDCO 2

LDCO 3

MLOO
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fll: 1+2*3 (3)

1 2*3
DFERFER
_ § LDCO1
1 @ﬂﬁﬁ%]””/”+L ................................................
— 2*3 DFAERFER \
— ) ; LDC 0 3
AD 00 '
> ML OO
AD 00
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{Bl: 1+2*3 (4)

1 + 2*3

@%quR%:nt% ...............:....g

......................

1 @%ﬂﬂ%ﬁﬁ%] [ 2*3 DEFRFER ] ADOO

...............

LDCO1

[ 2 DFERFER ] [ 3 DEMERIER ] MLOO

........

l | EMR | mms

............................................

LDCO 2 LDCO 3




fa X R R (CITOa—F A Bk

1 + 2*3
E
T
F F
‘NUM:”1’ ‘NUM:”2’

E—-T{'+T)
T—F{"F}
F — NUM

NUM:"3’
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Y& R AT E RIS

TOO—F 4R

ADOO

E—T{+T)
T—F{™T)
F — NUM

ML OO

|

\ ‘NUM:”3’
LDCO 3

E—-T{'+'T[ADUO 0]}

T — F {" F [ML 0 O]}
F — NUM [LDC 0, NUM

ST 2]
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fa X R R (CITOa—F A Bk

ADOO

E->T{+T)
To>F{™T}
F — NUM

MLOO

\ ‘NUM:”3’
LDCO 3

LDCO1

LDCO 2

LDCO 3

MLOO

ADOO
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iR e o] e (2)

o 1+2*3+4*5|Zx{9 Ha—FK*4
BXKIZA-=ETITA,
« (1+2)3DEHFEIE. ES5M?

ERZERIEDASANESEI,
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R385 E £8(Source Language): X, 7Oy

<PROGRAM?>::= <MAIN>

<MAIN>::="int' 'main' (' ')’ <BLOCK>

<BLOCK>::="{" <STATEMENTLIST>"}'

<STATEMENTLIST>::=empty
IKSTATEMENTLIST> <STATEMENT>

<STATEMENT>::= <SUBSTITUTION> '="' <EXPRESSION> "'

{' <STATEMENTLIST> "}

‘putint' '(' <EXPRESSION>")"";'

‘putnl™;’

<SUBSTITUTION>::= <IDENT>

putint <EXPRESSION>MD{EZZEETH 7

putnl fTa—FZa>Y—ILIZH AT S
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putint(123) ;

HAXDI—K&E

LDC 0 123

WRI OO

putint(1+2*3) ;

LDCO1
LDCO 2
LDCO 3
MLOO
ADOO

WRIOO

WRI 0 0 EHRT: S[sp]&F:E7K; sp—; pct+;

putint( =

);

DFAERIFER

DEFMERFER

WRIOO

24



X D5l (statementlist)Da—F & (L

putint(123) ;

LDC 0 123

WRI OO

putint(123) ;
putint(1+2*3);

putint(1+2*3) ;

LDCO1
LDCO 2
LDCO 3
ML OO
ADOO

WRIOO

LDC 0 123

WRI OO

LDCO1
LDCO 2
LDCO 3
ML OO
ADOO

WRIOO
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[ 32D 5| | (statementlist) D 3—KF & B

XD

DEFRFER J

{ X D5

X
DEFMERIER

€ (ZEX)

@ﬂﬁﬁ%}

XD

DEFRFER

DFERFER
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[ 32 I(statement)Da—K A Rk

X DEFRFER

28I = =
DEFIRER
{ XD3 ]
DEFIRER
-
putint( = ):
DEFIRER
_
putnl; DEFRGER ]

I

\.

&

DEFERFER

\

J

STVO

addr( | &8I

XD

DFMERIFER

\

J

WRIOO

DFERFER ]

WNL OO
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RKAXDO—F-

%’

2] = = : — =% DEERFER
DENREE :
AR R STVO addr( | &HiI b

addr(£& ) . BRIICRLTEY L TH=
SREEBO7RLR

a=1+2*3:

S EHaDEZRFITHT7RLAN
1(addr(‘a’)=1) &I NIX. . .

LDCO1
LDCO 2
LDCO 3
MLOO
ADOO

STVO1
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iR e o] d(3)

« TEEDTOUILZ EBXKIZB->TIA—FERTSHET
HERE &, 7=7=L7Inta; int b’ MEEERIL. THa,bDIEZE
R¥EF9 S ’Eﬁﬁﬁ’d’é: F(PUSH 0 2)IZ&EREn 5%
DL 5, £1-. addr(a)=0, addr(b)=1&9 %,

Int a;

Int b;
a=1+2*3;
b=a"*4;
putint(a);
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“[20+10*5
[csO7k1234.cIass]< E JavaCCljavac ]4 cs07k1234.jj
LDC 0 20 AVNAFERDITREN
LDC O 10
LDC O 3
ML 0 0
AD 0 0
HLT O 0
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